
Математика

 Классная работа.         26.04





Устный счёт

403 = 400 + 3
430 = 400 + 30
679 = 600 + 70 + 9
458 = 400 + 50 + 8



Тема урока:
Приёмы устных 

вычислений.



Приёмы устных вычислений

403 · 2 = (400 + 3)·2= 

430 · 2 =

400 · 2 + 3 · 2 = 
= 800 + 6= 806 

(400 + 30) · 2= 800 + 60 = 860  

680 : 2 =(600 + 80) : 2= 300 + 40 = 340  

560 : 4 =(400 + 160) : 4= 100 + 40 = 140  



Работа с  учебником
с.83 Объяснение в учебнике

с. 83 №1



Работа с  учебником
с. 83 №2 

Записать получившиеся 
выражения
Образец:

560 :10 = 56 56 +100 = 156



Работа с  учебником
с. 83 №4

Масса 
1 пакета

Количество 
пакетов

Общая 
масса

Д.       ? кг 5 п.  15 кг

В. Одинаковая 
? кг

2 п.  ? кг



Работа с  учебником
с. 83 №5

футбол баскетбол
45 · 2 10 · 4 мин

на ? мин >



Работа с  учебником
с.83 задание под чертой



Домашнее задание 
с. 99 №9, с.100 №17

(таблица)


